PORTAVALIGIE LATERALE
PORTE-VALISES LATERAUX SPECIFIQUE - SPEZIFISCHES STAHLROHR-SEITENTRAEGER
PORTA-EQUIPAJE LATERAL ESPECIFICO

BMW F650GS 00/04

ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS

(PL188 K788

ATTENZIONE - WARNING - ATTENTION

IL SUPPORTO "A" VA INSERITO TRA IL FIANCHETTO ED IL
SILENZIATORE.

THE UPPER SUPPORT "A",MUST BE INSERTED BETWEEN SIDE
PANEL AND THE SILENCER

LE SUPPORT "A" DOIT ETRE INSERE"' ENTRE LE COTE PLASTIQUE
ET LE POT.

FICO - SPECIFIC TUBULAR SIDE-CASE HOLDER ™\

4 ® ™\

o
» ot

PORTAVALIGIE

7 @ N\

PONTE POSTERIORE

4 @ N
a9

4 @ N\
@®

4 @ ™\

f@a
8o

FISHER 23,5X 25

INSTRUCTIONS DE MONTAGE - BAUANLETUNG - INSTRUCCIONES DE MONTAJE )

VITE TBEI M8 X 20| | VITE TBEI M6 X 16| | VITE TE M8 X 35 | |foro @ 8,5
SIDE SUPPORT REAR BRIDGE SCREW M8 X 20 SCREW Mé& X 16 SCREW M8 X 35 FISHER
SUPPORT LATERAL | |[PONT POSTERIEURE | | VIS M8 X 20 VIS M6 X 16 VIS M8 X 35 FISHER
QTY n2 ) (QTY n°1 ) (@TY 2 J{ @TYn2 J(Q@ryn2 J QTY n2 )

@ '

4 )

DISTANZIALE 14X3
fo

VITE TBEI M8 X 25

4 ® )

RONDELLA ORIGINALE

( @ ™

RONDELLA @ 6

RONDELLA @ 8 ro
1 SCREW M8 X 25 | |ORIGINAL WASHER | |WASHER @ &

‘n@rﬁggﬁ? ;2§3 8 ES&EE %'ES TFfé?fRE_ VIS M8 X 25 RONDELLE ORIGINALE | [RONDELLE & &

kQ-TY I'I°2 ) \Q-TY noz j \Q-TY I"I°2 j \ch l‘l°- J \Q-" I"I°4 j

INSERIRE IL FISHER N°6 NEL SUPPORTO PEDANA
INSERT THE N°6 FISHER IN THE REAR FOOTPEG SUPPORT §
INSERER LE FISHER N6 DANS LE SUPPORT APPUYEPIEDS |

U

© Copyright 10092004-Rev03, l/_y




